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=~ 1 0.2M CH:;COOH# [ H,0*)
CH:;COOH + H:0 = CH.COO~ + H,O*

Ka = (CH,COO~) (Hs0*)  [H,0*)?
- { CH;COOH ) ~ ( CH:COOH )
[H30+] =+ Ka[CH.COOH ] =+ 1.8 X107° x 0.2
=1.9%X107*M

2. 0.2M HCl f pH
pPH=—1log (HsO*) =—1log ( 2x107") =1—log 2
=0.7 ; '
3. HSO: +COi” = S0i” +HCO;5
acidl base?2 base 1 acid 2
4. HEHEREE
BEREMIEAFS HCL >HSO: > CH,COOH
R#EIVLERS CH.COO™ MEBHIRMECl o
5. HSO; + HPO#~ = SO#~ + H,PO;
BB Kaso, > Karo2™
PR ABRER SOi~ R H.PO7 FaBE) o
6. CH;COOH+ CO;” = CH;COO~ + HCOj
CH,COOH + HCO; = CH.COO- + H,CO;
R Kerycoon > Kuyco, > Kucog
FHERAER CH:COO™ B HoCOs HEBE) o
7. Duyso, =0.2mol « dm™* X 0.02 dm® = 0.004 mol

_0-.004 mol x 2

Vxeon = =0. 3
M" T 0.2 mol - dm—° 0-04 dm

, _0-2mol x8.314J-mol™* - K~ x 310K _ _ _ .
& Vaa = " 202.65 Kk Pa = 2.544 dm
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OH | . |
4 STP s » SIBBA WA N: & CO, (H:0 BHifL) » 3oy CO, A 8

SALABREBR -
(1) Veo, = 5.432 dm® x 0.1546 = 0.84 dm®
(2 Vi, =5.432dm*® —0.84 dm* = 4.592 dm*

(3) CHs—CH-—CHs +—£2)— (0:+4N:)= 3CO; +4H.0+18N:

OH
(4) CH; —C—CHs+4 (0:+4N:) = 3C0:+3H:0+ 16 N.

% CH, — CHOH— CH, f§ x &5 » CH,— CO—CH: B y £
(1), (@, WAE: 3x X 22.4+3y x22.4 =0.84
(2) , (3), W 18X X 22.4+16y X 22.4 = 4.592

B LARAE : x=0-0025mol >y =0.01 mol

x_ 0.025 _ 1
y  0.01 4
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KRR 2 B -
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®Ex=0.077g MEEBREEVREED
100 %—59.05 % = 40.95%
fELWIMERER

100
0.077g X 20.95 0.188 g

R (DUR) B9 M7 (OH): MEER
0.188g — 0.077¢g = 0.111 ¢

R EES M’ (OH); —2— M’0 + H.0

AR EER H0 288 0.027¢2
% MO WBEERS 0.111g — 0.027g = 0.084 g
Mwo Mo 0.084

My'o + HO ~ Myo+18 0.111

k8  Myo =56 .g-mol™

My = Myo — Mo =56—16 =40 (g-mol™)
i M’ =Ca M'(OH);:Ca(OH)z
SRR S DU B

Ca(OH), + (NH,).CO; = CaCOs+ 2 NHs + 2H:0
SRR A B0.18 g 0 BRBHEER

0.18g + 0.077g=0.257¢

B ( NH)): CO» R M R ITE B A KA & BED 2|
MOH E &
W B R
o AR P YRR 0 B LSS B BB W > T Ca (OR): RER 74 g mol™

0.077 —WX 74
. R -
16.81 0.252 —Wx74+2W

x 100

16.81%, -+ 16.81 =

X 100
W=5x 10" mol
&Eﬁ%@%ﬁ*%CdOmz%EEﬁ%:
0.111¢g

N ca(0Mz — W‘F 5 %X 107" mol
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= 0.002mol = 0.148 g
# M'H+2H.O=M'(OH):+2H: , nu,= 0.004 mol
$# MH + H:0= MOH +H: , ngmo=0.001mol
nyon = 0.001 mol
muos=0.188g — 0.148g =0.04 g

Muon 0.04 ¢ -
Muyor = = = 40 g-mol™?
T om 0.001 mol g-m
. MOH = NaOH

HRAESBTRESYHMAKE: Na 0.001 mol , Ca 0.002 mol
‘ ® Na 0.023g2, Ca 0.080¢g

A~ BB ¢ RSB o

t© ~ BBE : 5 5HVE NH.
6 AT Hg*
79E%E OHT
8 MHAE Fe’r
9 HAE Cu?*
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